OTHER END CONNECTIONS ARE AVAILABLE UPON REQUEST.

12X@1.13HOLES
On @18.75B.C.

FLCS ERDI:
AMNSIB16.1
CLASS 125

-—1.38

F ®

14" C515 OSAY RESILIENT WEDGE |~
S.| GATE VALVE

==

1~ 135

Tomemmew: | o | D



evan.waters
Pencil


78.65

OS&Y WITH HANDWHEEL

OPEN

62.09 CLOSED




——

14" C515 OS&Y RESILIENT WEDGE

1BS.| GATE VALVE
s | 110 [ Soldwors 2018 572




ITEM NO. COMPONENT | QTY. SIZE STANDARD MATERIAL MATERIAL OPTIONS
] BODY ] - DUCTILE IRON -
2 WEDGE ] - EPDM/DUCTILE IRON -
3 STEM ! - C86710 C65500 (LOW ZINC)
4 STEM NUT ! - C87850 C99500 (LOW ZINC)
5 COILED SPRING PIN 1 1/2'X31/4" 302/304 SS - VALVES CONFORM WITH THE
6 ORING 1 #325 EPDM BUNA-N FOLLOWING STANDARDS
7 ORING 1 #463 EPDM BUNA-N * AWWA C515
8 COVER 1 - DUCTILE IRON - * NSF 61
2 OS&Y COVER SPACER ‘ - 87850 - LOW ZINC BRASS STEM AND STEM
10 HANDWHEEL 1 @22 CAST IRON - NUT AVAILABLE
11 STUFFING BOX 1 - DUCTILE IRON - 100% DOMESTIC FASTENERS AND
- SUSHING ] - e85 - ORINGS OPTIONS AVAILABLE
C83600
13 GLAND 1 - C87850 . OPEN LEFT (COUNTERCLOCKWISE)
65500 (LOW ZINC) AND OPEN RIGHT (CLOCKWISE)
14 FOLLOWER PLATE ! - CAST IRON - OPTIONS AVAILABLE
15 PIPE PLUG 1 1/2"- NPT 18-8 53 31655 TURNS TO OPEN FROM FULLY
16 YOKE 1 - CAST IRON - CLOSED: 52
17 TOP STEM NUT ] - C26000 -
WW w
18 KEY ] 3/8'X 1 3/4" 18853 316SS éLOSﬁlng\éﬁ/&é ;2\5%%_@2&
19 OS&Y RETAINER PLATE ] - CAST IRON -
20 WASHER 12 34" 18-8 55 31655
21 HEX NUT 12 3/4-10 18-8 55 3165S
2 HEX HEAD CAPSCREW 12 3/4-10 X 3 3/4" 18-8 55 3165S
23 HEX HEAD CAPSCREW 4 7/8"9 X 4" 18-8 55 3165s
24 HEX NUT 4 7/8'9 18-85S 3165S
25 STUD 2 5/8-11X31/2" 188 55 31655
26 HEX HEAD CAPSCREW 8 5/8-11 X 3 3/4" 18855 3165S
27 HEX NUT 8 5/8"11 18-8 55 3165S
28 HEX NUT 2 5/8°11 18-85S 3165S
29 O-RING 1 #425 EPDM BUNA-N
30 HOLD DOWN NUT ! - 87850 -
31 HEX HEAD CAPSCREW 4 5/8-11 X 2" 188 SS 316SS e e e

[ 1510 [ Soldworks 2018 sp2






